BERT YL RERHE? F3

- A &Fr R
(CF)AERFEERT Y%

106 & 12 * Rt R &AW B Y F

AEEY RH 101 % 3,028 § =
9,590 i =~
T3 H

T 0. 93%
106 & # 1 12 7 Rt P 05~
EY R EE TR t 4R o K Eaake 0%
I 9,590 ¥ =~
0. 93%
LR B G (T 106 £ 2 p TIME) AT

2 AAEEN B RN ERBPEL T -

£1106# 120 &

5 p @ i FREE o) (%)
B iTiE? 10, 130, 279, 173 100. 00
W AR e iF) 9,975, 303, 356 98. 47
2R EGR) 154, 975, 817 1.53
& i 10, 130, 279, 173 100. 00




(Z)REPFRFTHLART Y 0l

#£1106# 12 & B g sta
77 2 E # PAEFER W H (%)
pof7oiE * 10, 130, 279, 173 100. 00
R 0 0. 00

()R ERAPRFTERPETY B

£ 31106 % 12" & LTI L
7 3 & 7 PAEER B (%)
B o F 10, 130, 279, 173 100. 00
IR 0 0. 00

- AP YRTRER
(F)AEFFHRTHE R (AP EFES)

23106 = 127 K

7 2 o 7 F (%)
RpEEES 0

CIAEPFUREZXIZBELT Y bR
£731062 127 A

7 2 E v (%)

Y
o

Fp &

Ry

[
e
o
o




